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1. BEBBROE
(1) BERE
£ PN Bt 3 E H s 0 0 0 0 0 0
EAXME T & B & 0B 0 0 0 0 0 0
e E & 3 & H = 0 0 0 35 0 35
BREEE & 8 M £ T0HAE 0 0 0 35 35
= HY = & 0 0 0 245, 750 245, 750 491, 500
] = = & 0 0 0 233, 750 233, 750 467, 500
e Al = & 0 0 0 12, 000 12,000 24,000
E * 14 #® 8,473, 547 0 0 0 0 8,473, 547
— & % * 0 0 0 0 0
Ia 2 3 B = * 8, 305, 947 0 0 0 8, 305, 947
=] i3 ~ Y Vi — D 167, 600 0 0 0 0 167, 600
2 HY f# Bh & * 1,639, 200 0 0 0 0 1,639, 200
13 * =B =1 ## Bh = 630, 000 0 630, 000
1% ## Bh = 1,009, 200 0 1,009, 200
2 HY & 1t il 0 0 0 1,010, 000 0 1,010, 000
- f& & fit = 0 0 0 1,010, 000 1,010, 000
# I #® 428, 360 40, 000 0 1,228 0 475, 588
= HY # 5\ 64 64
# I % 428, 360 40, 000 71,164 475, 524
BEEREET 10, 541,107 40, 000 0 1,262,978 245, 750 12,089, 870
(2) #EER
= * = 10, 850, 292 , 933,079 0 0 0 12, 383, 371
3 =] #H B 162, 000 51,000 0 0 0 213, 000
i # F | 3,916, 445 172,151 0 0 0 4,088, 596
] # E S & 679, 464 29, 698 0 0 0 709, 162
Bt & & 0 11,080 0 0 0 717,080
H % AR & 1,069, 339 193,112 0 0 0 1,262, 451
HOBR H A= e & = 0 0 0 0 0 0
B 1 & H =1 893, 260 39, 264 0 0 0 932, 524
= & # 385, 445 15, 238 0 0 0 400, 683
123 B # 176, 424 4,638 0 0 0 181, 062
i3 g x ;] =1 1,000, 923 150, 641 0 0 0 1,151, 564
;] & & & =1 250, 513 62, 399 0 0 0 312,912
pi 2 X # g 12, 443 546 0 0 0 12,989
Efl il & Z:S = 886, 595 0 0 0 0 886, 595
M i N S 9, 460 240 0 0 0 5,700
& f& 7 110, 000 0 0 0 0 110, 000
i 44 & 162, 000 143, 400 0 0 0 305, 400
B e 4 683, 100 45, 400 0 0 0 728, 500
# & = = 0 150 0 0 0 750
b3 th & 1t & 10, 000 0 10, 000
& = = 52,110 97,500 0 0 0 149,610
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M B ~ o 3 @ EARE & &t
E3 B =1 379, 100 10, 000 0 0 0 449,100
M =1 15, 671 380, 022 0 0 0 395, 693
5 H & 0 0 0 0 2,280, 625 2,280, 625
3 =] #H B 0 0 0 0 486, 000 486, 000
#a # F = 0 0 0 0 215,189 215,189
= # E o & 0 0 0 0 37,123 37,123
H % AR & 0 0 0 0 15, 051 15, 051
HO® H ax w & = 0 0 0 0 0 0
g & # 0 0 0 0 19,048 19, 048
123 B # 0 0 0 0 5,798 5,798
B i & H =1 0 0 0 0 49, 080 49, 080
i3 =1 x ;] & 0 0 0 0 408, 929 408, 929
;] = & & g 0 0 0 0 15,217 15, 217
pi 2 X # g 0 0 0 0 683 683
Efl il & Z:S =1 0 0 0 0 0 0
M B N EES 0 0 0 0 1,900 1,900
5 1 = 0 0 0 0 0 0
i3 44 & 0 0 0 0 39, 660 39, 660
B E & 0 0 0 0 500 500
= 5 g 0 0 0 0 14,000 14, 000
b3 th & 1t & 0 0 0 0 10, 000 10, 000
B = & 0 0 0 0 303, 000 303, 000
E3 B & 0 0 0 0 656, 420 656, 420
i & 0 0 0 0 217 217
b3 th F # # 0 0 0 0 3,000 3,000
BREERE 10, 850, 292 1,533,079 0 0 2, 280, 625 14, 663, 996
R F AT L AR E ISR A 309,185 A 1,493,079 0 1,262,978 A 2,034,875 A 2,574,126
Bl kS 0 0 0 0 0 0
LR EIRREE A 309, 185 A 1,493,079 0 1,262,978 A 2,034,875 A 2,574,126
2. BENMEROH
(1) BESMRE
i 4 #® 8,500 0 0 10, 000 0 18, 500
BRI REE 8,500 0 0 10, 000 0 18, 500
(2) BEHNEHR
BENERE 0 0 0 0 0 0
LEREIMEREE 8,500 0 0 10, 000 0 18, 500
L — AR IERKBA E IR IREE A 300, 685 A 1,493,079 0 1,272,978 A 2,034,875 A 2,555,626
—RIERMEHREERS 4,798,174 A 9,691, 356 A 297,233 43, 544, 585 A 4,406, 674 33, 947, 496
—RIEREIERRES 4,497, 489 A 11,184,435 A 297,233 44,817, 563 A 6,441,549 31, 391, 870
5 7€ 1E WK BA EE IR IR D D
E X # E E A & 0 0 0 0 0 0
— % E BK Bt E ~ O Kk B 0 0 0 0 0
L HA4E T IE R BA EE IR IRAE 0 0 0 0 0 0
EEEKRMEHEERS 0 0 0 9, 000, 000 0 9, 000, 000
EEEKRMERRES 0 0 0 9, 000, 000 0 9, 000, 000
ERMEHRES 4,497, 489 A 11,184,435 A 297,233 53, 817, 563 A 6,441,549 40, 391, 870




